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PART -1 , = A
GENERAL KNOWLEDGE AND TEACHING APTITUDE ,

1. The World’s tallest statue of Mahatma Gandhi was unveiled on Feb. 15, 2013

/g '
(1) Patna (2) Hyderabad - ;
(3) Ahmedabad (4) Bhuvaneswar e
3.8 28 15, 2013 5, E8cned’S wd N BoiTiE, Mol DIRTED esdiy BoTms. '
(1) 3w @) psows
(3) wirsnored W gosdeb

2. Which sport will be dropped from 2020 Olympics, according to the recent °
decision taken by the International Olympic Committee (I0OC) ?

(1) Badminton (2) Wrestling
(3) Cricket (4) Weight lifting

|
|
L
i
|
i

0 deso 2020 oS, 500 Sehomod 3did wobdan ¥ud Jgoaeded?
1 P& (2) Teoh
(8 @:@BS ) Do Boh

3. Which was the first successfully transplanted organ in humans ?

(1) Heart (2) Liver

(3) Kidney (4) Lungs

s $0v0d’, Duatisetem DiRrelnds DoogRoatie LHALS WG D82
( (1) e (2) dcme

(D) sorpholio (4) &00obges
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In which year, the minimum voting age in India, amended to 18 years from
21 years? L

godoird®, f.e S Tnelns ¥55 BB [ty 21 Boil wod 18 SoneD BHounds
T T

(1) 1979 (2) 1956

(3) 1967 (4) 1989 '

‘Numismatics’ is the study of .............

(1) Insects ' (2) Numbers
(3) Coins . (4) Stamps
RogmoyedBy e A2 Bed egakive Bake.

(1) Sesmven (2) ecdes
(3) orfew (4) B rodiHes
The first President to sail in a Submarine in India ..........

-

(1)* K.R. Narayanan

(2) APJ Abdul Kalam

(3) VV Giri

(4) N. Sanjeeva Reddy

PEESEes’, nercbodt Barrions Ba33R20503 TFIO ...o.on.
(¥ 3.esb. Poranes |

(2) D.0.8. wwb Yool

(3) 22,00

(4) IR, Sodsog

[3] PT.O.
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7. A child who is in the habit of stealing is to be dealt with ..........
(1) Punishment (2) Scolding
(3) Counselling ' (4) Hatredness

Sortiso 35 womuss DETER JOLOBOWIERD APRO v
(1 agonto () srhentie
(3) Sooeo’ (4) Ggevdo

8. The creator of learning environment in a classroom i8 ............

(1) Student (2) Teacher

(3) Headmaster (4) Management
BEND KOE® s TTOTP WD v

(1) 2l (2) &argrgctand
(3) BT | 4y oddaoes

L]

9. Teachingis .....cccen
(1) imparting knowledge to.students.
(2) bringing ahllmt behavioural changes among students.
(3) Lecturing in the classroom. :

(4) Promotion of academic excellence among students.
2556.‘,535 ESRITI® wanes
) oty Ty wobohko.

{ (2) mmﬁua‘ (RGBT brosmste.

(3) BUKS KoE' &vdgoBEe.

(4) Dovgigeé’ TRRORE BOYR Fbproison.

[4]
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10. While class is going on, a student is found disturbing students sitting

besides him, the teacher has to

-----------

| (1) give him corporal punishment.
: (2) pay least attention to that student.
(3) find out the reason for it.

(4) quit him out of the class.

Bon0 KO, 55 b Mobest L Dong, B BY, Doges sped
DB &8 SIPOTE> DOBBONIE v,

(1) 830 Bgod Suo.
i (2) & oG KB eisyes Melows’s Mo,

'. (3) D2 Ko SOme BesisThsa!

M) SRS KO ool o BN IR Ee.

[5] PT.O.



Download from JbigDeal
Code | A\

PART - II (A)
GENERAL ENGLISH

11. _Chpose the correct sentence.
(1) I am thinking you are wrong.
(2) I have thought you are wrong.
(3) I think you are wrong.
A4} I was thinking you are wrong.

12. Read the sentences (@) and (b) and choose the correct option about them. |
(e} He visited not only Agra, but also Delhi.
(b) He not only visited Agra, but also Delhi.
(1) Both (a) and (b) are correct.
(2) Only (a) is correct.
(3) Only (b) is correct. !
4 Both (a) and (b) are wrong.

.. 18. Choose the word with the correct spelling.
) greive
(2) seize : :
(3) protien

A4y recieve

14. Imust.....cccoeeneeee. you on the way you handled the situation.
f J (1) Complement
(2) Complaint
£3) Compliment
(4) Compilement

[6]
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15. He will finish the work in a fortnight,
The passive form of the sentence is ......

(1)  The work will be finished by him in a fortnight,
(2) The work is finished by him in a fortnight,

(3) The work was finished by him in a fortnight.
(4) The work would be finished by him in a fortnight.

16. Choose the word that comes before ‘repulsion’ in a dictionary,
(1) reputable

(2) repulsive
(8 reputation

s e —

(4) republic

17. Choose the appropriate phrase to complete the sentence meaningfully.
i What a charming girl e et SN N W

(1)  she has

) s she

(3) sheis

(4) has she

18. 1Itis nothing else s, Pride.

i Choose the appropriate word to fill in the blank.
(1) but

A (277 or
(3) and
(4) than

(7] ETO.
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19.

20.

The climate of Belgium is ............... Pune.

Choose the appropriate option to fill in the blank.
(1) like

(2) like that of

* (3) as

{}}r like as

The Complex sentence of the simple sentence,
‘Only Indians are admitted.’ is ......

(1) You are admitted although you are Indians.
(2) Being Indians is a fact to be admitted.

(3) I wish you to be Indians.

(47 If you are not an Indian you cannot be admitted,

JbigDeal
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PART - II (B)
GENERAL TELUGU
21. TGRS | |
1
(1) St (2) oo
(3) Hﬂ; lﬁl bvilewit)
%)

22. TS - &S Do e ol P St

1) S558y ses (2) ©xses
(3)  cwernds Bon (4) 8 %08

23. 355 - ey T8 PPES 08
(1) RBPGsas 2)  d5msa
3) 3
oA (4) Eosmas

24.  BoteD SPHED? &) SBOWEY T ...
1 L
(1) Ko ewspmr —£2) Jve oo Ty

(B) D% BoToahes
5 @) Bosoe beroasarg o

25. oEsp DERTTE 05 Do B9
) TRgwe
DA (2)  Sog5010 Seossse
(3) elnodise (4)  ehgrs

[£:]]
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26. ‘RoME - s 500 EFIL Ao T S
(1) S5ed% vod 2 RNl
(3)  clerds Hod (4) @od 500

27, Shop SEeto SStoes Soiaey’ y Te SROEPFoes e ...
(1) JIsssmse (2) HsgeoPe

(3) oursove ) womadnso

28. o Sfa Dects grEd Mt SUeTS ‘e 3‘3‘:*5@0%551,5’ k. S
(1) et 505 () dow e

(3) oressses (4) Tt

29. (B0 P08’ HERm 3 zoEheres, 1 RIElies0 SO& BED ..........
(1) ags (2) Dehs
3) weRen (4) Sisa

30.  Eoorotes ¢ S&c e PN AovEm
(1) Z@aeSetss ssgrsane
9 CRATR YU SEmEae
[ @) axurPatns wgmsane
(4) 8 Pross oymsate

[10]
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1. ‘a0 Boopo Bolhomo e deay & BAPNER wosse

@) s | @) @y
8) eosars @) eodisso

32. ‘el wse’ 6 Boxses NoRe ...,

(1) DEd& So¥sesn L2) D5 Soeese

(3)  &ms Boswe (4) o sexwe

83. Ao - % %0 a0
M) Fape | (2) : s S
I3 As (4) Kme

34, <588 erusise 52 0 8,8 owess. &5y T80 828 sovinges ...

(1) s&giene | 2) sgsomnyo

3) @egone (4)  esomsstse
35. ‘e5ds e o SrERe0 OB - e e .
' (1) exgso ' “2) Jsyso

3) D @) trogse

[11) . —
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86. @i %. PoroKridg MBS HOYPITHN wrnb LuBed HeBDD SHE ...,

(1) =mEgsdnse (2) ol

(3) HETY BeBTes (4) @souBies

37. O FHo0IreE BIOVS (FHO TS’ & NPl FoBEND Luvveenen.
(1) Jorwsto (2) Serdbe
(3) w¥eragste | :;5) s&nste

38. ‘amoe %05 Howen Sotomron’ - &P TED e

{/1; f’.ﬂéﬂﬁo (2)  esuboBgse
(3) :Ecsgga (4)  wsgso

189, Dot 2 Drocirey’ U (fogrR) SDoVH TS ... .
(1) Sbomroad doltsard (2) =7EBold HERarg

3y e aiohy TR (4)  HEPEo TR B0,

40. ‘oud notupe GASY &b JoETo Fe Db B 68D ....vvvv

f (1) g l (2) el

@) s57 (4) 1O
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PART - III (A)
MATHEMATICS

41. IfP = Rs. 1250, R = 4% and if the interest is compounded half yearly, then the
amount in 14 yearsis.......

P = Rs. 1250, R = 4% GF DRGNS SN BG BLoNt K3 Godie 14 Sones

B350 ...,
(1) 1325 (2) 13265
_(3) 1290 . 4) 13505

42. If the perimeter of a Square is increased by 25%, then the area will he

increased B_-,r ........
&5 DBOGERH0 Gk, W Fon 25% Do ood PP eed’ DLIDSY ........
(1) 25% £2) 50%

(3) 36% (4) 561%

43. Find the least natural number which when divided by2,3,4,5and 6 leaves the
remainder ‘1°,

2,3,4,5,6 &3 A 20> dse ‘T T Dod 0 %y B0%5 crvane

(1) 61 (2)- 121
(3 60 (4) 127
(Space for Rough Work)

[13] PT.O.
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44.

45.

46.

|

Factors of (2¢°+ x)? —-4(22% + x) + 3 are........
2%+ 2)? - 4227 + 1) + 3 DoY) TVEFCLEES ...,
(1) 2x+3)(x-1)(x+1)(2x-1)

(2) -3 E-1E+1D(2x-1)

B 2x+3)(x-1)x+1)(2x+1)

W 2x+3)x+1)(x+2)(2x+1)

If the interior angle of a regular Polygon is 120°, then the number of sides

ithas.....

&8 B pirogie Al 187N, ot 120° o o 4He80 P08 <.
1) 12 (2) 10

(3 8 @ 6-

How many lines of Symmetry will a straight line have ?

5 >
(1) Finite ~ (2) Infinite
(3) Two (4) ‘1’ line of Symmetry
2.5 St i) PHTER00 B0y +eevenes
(1) P25 ¥OAY (2r eSoso
(3) Dot @ 1 Diggan

(Space for Rough Work)
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47, A circle is drawn inside a triangle touching its three sides, then the circleis ... ..

(1)  Circumcircle (2) Excircle

(3} Incircle (4) Orthocentre
% ummgbmmmmwﬁmmq}@m ........
| 1) Sopzwe (2 erimgiise
| (3)  wovpg @ ooudormn

48. The area of Isosceles right angled triangle is 32 8q. cms., then the sides are ...

¥ wonf’t BlEry Bee £T°00 32 5.20.800. wans o0 e ...,
(1) 88,8/2 (2) 4,482
A3 4,443 (4) 88443

49. Find the simplest Rationalising factor of V75,

V5 @k, 28,0 SERSS eitirkess Semoss ...
M) 15 @ 5 -
3 3 . (4) 23
(Space for Rough Work)
|
Al [15] PTO.
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50. The ratio of the radius and height of a cylinder is 3:2, and the radius
is 21 cm. Then the curved surface area is ...........

2% S TR0, 69 3: 2 Dp@6° eTmon. TR PG 21 em. GoXd

TR (DE),Be PTPOEI cs
(1) 1488 cm* (2) 1848 cm?
(3) 1848 cm® (4 1820 cm®

51. Find the Quadratic equation, whose roots are (6, - 2).
(B, — 2) e 5000 BT e B HATLIO weneess
1) x22+4x-12=0 (2) x*+8x-12=0

3y x*-8-12=0 J4) x2-4x-12=0 .

52. IfA, B are two Sub-setsof a Universal set i, then A Nnp=.......

© A, B 5D Dugsnod () G300k, diSDotoes eaaii A NP = e

(1) A (2) B
23 p (4 pnB
(Space for Rough Work) 3
{
[16] PTC
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53. The angle subtended by a major arc at the centre is .........
Y D500 St 18 Do S ...,
(1) > 180° " (2) 180°

_(3) < 180° ' 4) 90°

-54. Ifthe circum centre of a triangle lies on one of its sides, then the triangle is ......
(1) An acute angle triangle (2) Aright angled triangle
(3)  Anobtuse angled triangle (4) None

¥ (Bgn S0XB Soe T LoeRd JolY, ¢ (BLOEBID ...
(1) wess Gitese (2) eowf'er Bobenn
(8) w¥Es Bgbesa (4) 28 =&

55. Multiplicative Identity for a 2 x 2 matrix ic

---------

BY 2 X2 NrOND Hesl BUIEN ... d

i 4 0 0
A O Y @ o o
1 0) 0 1
@ | 1, @ {1 o

(Space for Rough Work)

[17] PT.0.
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56. The width of a rectangle in a Histogram represents .......
(1) Class interval (2) Mid points of the Class
(3) Frequency of the Class (4) Number of Classes

2300 Do’ 2. BESBEE0 Deey BN erres:
(1) BON® wobbo (2) BOHO DRIV
B) BUNO oo (4) GuRoe Sogy

57. Let fix) =x% glx) =2*+1 for xe R, then (fog) (x) = ...........

fix)=x%, gx) =22+ 1 Vxe R o (fog) (x) 2055 e

1) 2P+x22+1 2 x(£2+1)
B) ¥+1 4) (x2+1)°
58. 1°+2°+8%+..0... +n*ED.B4
- n{n+1) n(n+1)(2n +1)
(1) : @2 5
o 2
®) “—(”‘%}— @ n@n-1)

(Space for Rough Work)
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59. Ifthe nth termofan AP is 2n + 5, 1ts first termis ........
&5 AP 6 n5osten 2n + 5 00 o0 Dot 55850 oo,
(1) 7

@2 Y

9} 0

(4) 2

c

60. A circular measure of ES_ is equal to sexagesimal measure of ........

c

m
3 SEeS Sems MRS S OSSR oo

(1) 120°
@ 90°
(3) 60°
(4) 30°

(Space for Rough Work)

[19] PT.O.
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PART - III (B)
PHYSICAL SCIENCES

61. Ifa body is in uniform circular motion, then its angular velocity is ......

(1) zero . (2) wvaries

(3) equal to one (4) constant

S T Bened® Boky Bk Sric s o,
(1) wms I (2)  Eortistor oevod

(3)  ‘eted & Baovsno (4) 5o

{

62. If the resistance of an Aluminium wire of 2 m length is 8 Ohms, then the
resistance of wire of 8 m length of same material and of same cross-sectional area

i$ ........ (in Ohms).

2 Qo5 EY l eerodaio Bl 6% 8 L5 wouss, wb SergEnd’ Dabedy, wod
05 Frage Mo 8 Doy iy S oy, o (8308) ...

(11 64 ' @ 32
3 16 4) 8

63. The total number of electrons present in the p-orbital of the atom having atomic
number ‘16’ is .......

RORTE Sopg 16 ™ Mo Sarely SEsreunER p-uterd 6% dogse D0YO ...

(1) 6 (2) 4

3) 10 (4) 12
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64. The calorific value of Glucose is ....., (in Cal/gm).
ArE'E ok, 36%0E Dens (ed/raxedh) ..........
(1) 3.81 (2) 2.80
(3> 6.86 (4) 2.86

65. If the relative density of iron sphere is 10 and its weight in air is 20 gm, then its
weight in water in grams is ... :

m&&° 20 rsase DEORRY FWS Koot DY Poest 10 wous, Hisst 0D K08 Wi

moest ...
(1) 20 (2) 30
::E)‘ 18 4) 10

86. COCl, is formula for ...

(1) Tear gas (2) Chloroform

(3)  Bleaching powder (4) Phosgene
7 COCl, 30 8 Gy, M ... ‘

(1) Soxwk mh ' 2

(3) Haofl a8 (4) s

67. An example for derived unit from the following is ........

(1) Ampere (2) Kelvin
(3) Second (4) Pascal
Eo0 TE” ety BErerad dovndes ...

1Y) eschanb ' (2) 388
(3) =t 4 >u&

f’ [21] PT.O.
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68. When a body is projected vertically upwards, maximum height reached by it is

equal to acceleration due to gravity in magnitude. If & = 10ms2, then the initial
velocity of body in ms! is .....

Download from

&S DN ey B8 D0 b T M0 Jo, MEMHHE BOSFEROR HEIESS,
g = 10ms? eows 5559 @k, &88K0 me~! o6 ...

(1) 19.6 (2) 14.14
(3) 10 44) 122

69. The Kinetic energy of a body of mass 2 kg moving with a velocity of 0.1 m/s in
joules is .....

0.1 m/s S8’ 2itis, 2 kg o G508 o Sikesp Bk, KBHE FES |.........

(1) 1x10°2 (2) 1x1073

3 2x1072 . (4), 2x10°8

70. Velocity of Sound is more in

(1) Air (2) Water

(3) Copper (4) Rubber

S0 Do B D ..., | | |

&) m™d (2) o

(3) o | (4) b
[22]
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PART - III (C)
BIOLOGICAL SCIENCES

(1) Selaginella
(2)  Moss

(3)  Funaria
(4) Maize

T o0 06" Bsdais Pobstetn boxthiust 20h Booy, ..........
(1) ST
(2) =%

(3> sdoass
(4) :DJEL. EE':L'Q

72. In respiration, for each molecule of FADH,, ......... molecules of ATP are formed

and for each molecule of NADH, ......... molecules of ATP are formed in the
Mitochondria through electron transport.

TS otd’ Eyﬁs*o@tabé‘ DO Srey s @& FADH, SERPE ....vee. LERHe
ATP Q5yaoss so8akss ©& NADH esugs ......... - e ATP Do,

(1) 3,4

{2) 4,3
(3) 2,3

(4) 3,2

2 [23] PT.O.
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76.

73. Read the following :
(a) Marasmus is a disease due to the deficiency of both proteins and calories.
(b) Kwashiorkor is a disease due to protein’s deficiency.
(c) Hepatitis is a viral disease seen in humans. _
Identify the correct statement / statements from the above.
(1) aandb _ (2) a,b,¢
(3) bande _ " (4) aonly

B4 300 TN DESPRD.
(@) ohah = Sdvoo, Tobo St ve sesrsse. e
(B) THhArEE e Phdioo i Be Yool

(c) HrdQes’ T8 THD TookEH0 0.8 P,

> Toed® S0aLN AR [N KGowssh.

(1) a®ebain b (2) a,bc

(3) bwebaixc (4) adrgae

74. The word ‘banana’ can make you to remember the shape and colour of banana | 77 |
eventhough you do not have banana infront of your eyes. The part of the brain

responsible for this is ..... y
(1) Cerebrum (2) Mid brain (
(3) Cerebellum (4) Medulla oblongata

febedBoliy’ e, B0 DR etlteons BIEEFoNEUs, TV esrhe, o BHo% 5% )
Ba0est Doiesgran. BRS SRR oSS IR e (
(1) oty (2) Dol DS (
(3)  emonolgn ' (4)  SoemSwopin

[24]
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75. The scientific name of Neem tree is

------

(1) Azadiractha indica (2) -Dalhergia regia
(3) Helianthus annuus (4) Triticum vulgare
S0 o), THO TEOBAS <..n...n.,

A1) wserdsy gods (2) oo Seaur
(3) &r®awsh esnd 4) B3sS 536

]

76.

The stage of Meiosis in which 5 sub-stages are present is .........
(1) Prophase - II (2) Prophase - I
(3) Metaphase - IT . _ (4) Metaphase - I

HOWKes el e 5%6° 5 duciEes dotioss,
) pesssE-11 (2) &8 s9-1

(3) So@gpws-1I (4)  SoFgp &% -1

77. One of the characteristic features of Xerophytes is ............
417 Large leaves | (2) Rhimphurgs
(3) Green stem (4) Weak roots

OG8 B8, 06% ¥ ofeiss ...,

(1) Doy wbes (2) 2&%Pbes

(3)  esxiinD svoiinn (4)  weirisdon di

E [25] ET.O.
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78. ICARis......
(1) Indian Council for Apiculture Research.
(2) Indian Collaborative Agronomy Reinvestment.
(3) International Council for Ayurvedic Research.
(4) Indian Council for Agricultural Research.

79.

80.

(1) zodokn 6 $6 dbyend 616,
12) godan§ FerudnS wirsns 8553508,
(8) owtysdd 08 36 escndnf &ih,.

(4)  godcns TR $6 ezesE 816,

JbigDeal

. B t;mklet

Code _‘M

The scientist associated with plant fossils is ........

(1) Jagadish Chandra Bosé (2)
(3) Saleem Moizuddin Abdul Ali (4)
Y 3cered Bowogo fio THIY .......

(1) =rbh soss® 12)
(3) 8o BaowerdS wepd wd (4)

Penicillin is extracted from a ........
(1) Fungus - (2)
(3) Bacteria (4)

20008 A2 Bood Batrss I,
(1) sbegsen - (2)
(3 erfocsr (4)

[26]

Birbal Sahani
M.S. Swaminathan

DEex 1Y
D805, SRoTES
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PART - III (D)

SOCIAL STUDIES
Arctic Circle is called as ......
(1) 23%2° Southern Latitude (2) 23Y%° Northern Latitude
(3) 66%° Northern Latitude (4) 66'%° Southern Latitude
es8;,638 Sed Bokm ...
,{P 23/2° &8s egroto (2) 23'2° &85 egroio
(3) 66Y%:° &85 egoio | 4) 66%° &ir egpcio

To provide irrigation facility, Public Works Department was established during
the period of this Governor General.

(1) Lord Wellesley (2) Lord Dalhousie
(3) Lord Rippon ' (4) Lord Cornwallis
NSSe P Eouon Bie, HBS 56, SIS v Mo eN6d seost
doryesossed.
1) ofaeh 2) of&gh
of 85 (4) of oS

This is a ‘Social Right’.

(1) Right to vote’ (2) Right to property

(3) Right to work . . (4) Right for good health
55 FHrRY tnky,

(1) e iy, 42) ey w

(3) ¥ iy, (4)  esGrig s iy,

[27] PT.O.
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84. Relation between income and savings ..........

85.

(1) Savings increase with the increase of income.

(2) Savings decrease if income increases.

(8) There is no relation between income and savings.
(4) Savings always stable,

BEA0 0A MEPIL Mo Bowedo .......... -
(1) eoraise 2843 sy DEKB0.

2)  esorao 0AS Doy BiBoes.

3 emrairds, s Bowoto B,

(@) e g Stssoo,

This project is constructed across ‘Manjeera' river.

(1) Hussain Sagar (2) Himayat Sagar
(3) Nizam Sagar (4) Nagarjuna Sagar
Roosks SBD Mesedss BB ...l

(1) sohSaE (2) rarand 36
(37 Qemo 3nb (4) gy 36

First All India Khilafat day was observed on this day,

(1) 8th April, 1919 (2) 10th March, 1919
(3) 27th September, 1919 (4) 17th October, 1919
‘B 0ho U6 DS & etoveds S

(1) 8% 25 1919 (2) 105 52§, 1919

(3)  27% eeb 1919 #) 175 «8%6 1919
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87. The flat bottommed temporary lakes in tropical deserts are known as .......

(1) Playas (2) Wadies

(3) Ergs (4) Oasis

SO 08" No GrBoo SERI dof EEH,D SBws Badsor B0t
(1) osres @) Ddeo

(3) e W aarbbes

88. The holy book of ‘Jews’ is called ....... .
(1) Bible (2) Apocrypha

(3) Illiad - (4) Animid
lorEse BB Hods ..........

(1) pdé @) g
3) 3Bawé - (4) d20:&

89. This sﬁbject is included in the concurrent list ..........

(1) Education d (2)  Forests

(3) Defence of the country (4) "Postal services
30 &l DS ecto ...

@) 25 (2) etpHes

(3) dutyes (4) B whiow

90. Bills of exchange written in regional languages, national languages are called ...

(1) Bonds (2) Bank credit cards

(3) Debentures (4) Hundies

(oA gries® M), erda gPas® MO [Tctonds D8, op Feliso s Dsom HEcurte.
(1) erotoes 2) erel BAS TEe

(3) &Beubes (4) Trvedes
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91. Duration of day light at 41° latitude is ......

(1) 17 Hrs : (2) 14 Hrs

(3) 15 Hrs (4) 16 Hrs

41° egrotio $G DI BERIHED ...

(1) 17 rionew (2) 14 Honew

(@ 15 Kenes (4) 16 Kounew

92. The followers of John Calvin in France were called ......

(1) Puritans (2) Huguenots
(3) Presbyterians_ (4) Catholics
6" 8 S emsairaiues 1 Disom HOSE.

(1) PrPwses (2)  SogarSen
@)  @nBdchSes (4) swdEes

93. The alluvial soil with more clayey and darker colour is known as ......

(1) Bhabar . (2)  Khader

(3) Kallar (4) Bhangar
DS w08 SIBRB® Busoth SGod’ KO BTN B4 Do beo.
(1) b @ b

@ sob (4) eronb

94. The measures of this King gave rise to the symptoms of revolt from French

people.

(1) Charles-IX (2) Charles -X
(3) Louis - IX (4 Louis-X

T O BRoKaR Do Hg Bod Puvs® Bmhoms ofrfes BBEr.
(1) $o-IX - (27 $25-X

(3) ercr-IX (4) eroar-X
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The electoral principle that was first introduced in India for thege bodies in 1892,
(1) Provincial Councils (2) Local bodies

(3) National Council (4) State Legislatures
PUETNS® (Bessom S g 1892 &° &y ROPOR ol T Seod bﬁ;&aa:
(1) obap ssoseses (2) 0% soges

(3) edabh wosd 4 oPe dpvsndes

This industry comes under organised sector of the Economy.
(1) Agarbatti making (2) Beedi making
(3) Hand paper manufaeturing (4) Textiles industry
T4 D0F QY SaSHE® BuShs Semdd Boss,

(1) enbede Sairbd (2) dde sourd

@) dosnse sowd (4) &3 wo@s

This state is the most important producer of Chromite.
(1) Rajasthan (2) Orissa

(3) Madhya Pradesh (4) Andhra Pradesh

ER 50 eBBEm Gy 35 -~ J—
1) oceds @) wody

(3)  Boggwdf (4) woEds
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This was the secret revolutionary organisation started in Italy to establish
political independence. :

(1) Carbonari (2) Plombiers
(3) Red shirts (4) Young Italy

3088° oo Moo Domesn Botinesls M Dteoweds EOiSs DBD BOPOD 1evenenn. '
(17 =08 (2) Sowb,

This Article of Indian Constitution provides that Minorities shall have right to
establish and administer educational institutions of their choice based on
religion or language.

(1) Article - 29 (2) Article - 28
3) Article - 31 (4) Article - 30

PUS TunoliobR B efIaioey HIe oy Rear STe T 6% edigien
wiolorsom Mo Bar gra (S-058ND DeRgioiei Donms BBk Suiroes Shoe.

(1) eddciko - 29 (2) eddabHs - 28

(37 wdiciuwe - 31 (4) * eddassse - 30

'Mining' is related to this type of occupational structure of Indian economy.
(1) Tertiary (2) Secondary
(3) Primary (4) Both Secondary and Tertiary

o0 (BN’ PPUETE 0¥ HENRER 1 BLemIE Jassted.
(D daw (2) &daw
(3Y @ (4) &b Bda Bybdw

[32]




	Cvils D001.jpg
	Cvils D002.jpg
	Cvils D003.jpg
	Cvils D004.jpg
	Cvils D005.jpg
	Cvils D006.jpg
	Cvils D007.jpg
	Cvils D008.jpg
	Cvils D009.jpg
	Cvils D010.jpg
	Cvils D011.jpg
	Cvils D012.jpg
	Cvils D013.jpg
	Cvils D014.jpg
	Cvils D015.jpg
	Cvils D016.jpg
	Cvils D017.jpg
	Cvils D018.jpg
	Cvils D019.jpg
	Cvils D020.jpg
	Cvils D021.jpg
	Cvils D022.jpg
	Cvils D023.jpg
	Cvils D024.jpg
	Cvils D025.jpg
	Cvils D026.jpg
	Cvils D027.jpg
	Cvils D028.jpg
	Cvils D029.jpg
	Cvils D030.jpg
	Cvils D031.jpg
	Cvils D032.jpg



